Math 3 Advanced
6.5 Practice Part 4 with KEY

Determine the remainder of a polynomial expression using synthetic division.

L (32° 4+ 102* 4+ 92+ 2) + (z — 2) 2. (52 — 122% + 36z — 16) + (z + 2)
3. (52 —42® + 8z — 6) + (z — 3) 4. (5% + T2 — 1224 16) = (z +2)
5. (32% —172? + 13z 4+ 4) + (3z — 2) 6. (62° —282? + 19z +3) + (3z — 2)
7. (203 —T7a® —5a+17) + (2a + 3) 8. (203 —3b% —8b+4)+ (2b+1)

9.  (32% — 2z — 180) + (z — 4) 10. (22 =522+ 7) + (2 +2)

1. (323 +22—-3)+ (2 +2) 12, (423 — 1022 +19) + (» — 2)
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Answer List

322 + 162 + 41, R =84
522 4+ 11z + 41, R =117
2 —5z+1, R=6 2e2 -8z +1, R=5
a’—5a+5, R=2 ¥ —2b—-3, R=7

322 + 122+ 46, R=4 10. 222 — 92+ 18, R=—29
11. 322 — 62+ 14, R=—31 12. 4a? —22x—4, R=11

522 — 222 + 80, R = —176
522 — 3z — 6, R=28
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